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Q.10) Consider the following pairs of 

International Conventions and the International 

Bodies associated with them: 

Convention International  Organisation 

1. Washington Convention                 IUCN 

2. Geneva Convention                         Red Cross 

3. Bonn Convention                            UNEP 

4. Rio Convention CBD 

Which of the above pairs are correctly matched? 

a) 1, 2 and 3 only 

b) 2, 3 and 4 only 

c) 1 and 4 only 

d) 1, 2, 3 and 4  

 

Q.11) Two or more states can pass resolutions 

requesting the Parliament to enact laws on a 

matter in the State List. With reference to such a 

law made by the Parliament, which of the 

statements given below is incorrect? 

a) A law so enacted applies only to those states 

which have passed the resolutions. 

b) The bill to give effect to such a law can be 

initiated only in the Rajya Sabha. 

c) It restricts the power of the state legislature to 

make laws on the same matter.   

d) Wild Life (Protection) Act of 1972 was passed 

under this provision. 

 

Q.12) Which among the following articles of the 

constitution guarantees social equality? 

a) Article 15 and 17 

b) Articles 48A and 49 

c) Articles 325 and 326 

d) Article 239 and 240 

 

 

Q.13) Consider the following statements: 

1. The Government in India can be sued for 

torts committed by its officials only in the 

exercise of its non-sovereign functions. 

2. Criminal as well as civil proceedings may be 

instituted against the President or the 

governor(s) in respect of their personal acts, 

during their term in office, but only after a 

prior notice of two months. 

Which of the above statements is/ are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2 

 

Q.14) With respect to Zimmerman Plan which of 

the following statement is correct?  

a) It was planned by Ghadrites to provide arms 

to bring a revolt in India.  

b) The plan was made by Subhash Chandra Bose 

with help of Japan to attack British rule.  

c) With the help of German foreign office, the 

Berlin Committee was established under the 

plan during World War I.  

d) After WWI the plan was formulated by USSR 

to provide support to Marxist revolutionary 

groups in India. 
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